BSEH MARKING SCHEME

CLASS- X SCIENCE (March-2024) Code: C

Ih-Aee & e 7T swR-faeg sfawr adt & T gomarcAs w@
Finfaw g1 I whemeft & g o=y, feg sagFa 3w R €
Y 39 39gFd 3w T amd|

The answer points given in the marking scheme are not
final. These are suggestive and indicative. If the examinee
has given different, but appropriate answers, then he should

be given appropriate marks.

Q. Answers Marks
No.
1. | d) STt # G Hi AT S g

into the page 1
2. | ¢) TAHROT

overloading 1
3. 11.33 1
4. | Aqdel

Concave 1
5. |c) AT § W R 3T ¢

A is true but R is false 1
6. | fAe-fdg (Near Point) = 25 cm 2

(1 371)

ge-feig (far point) = 37=Ad (infinity)
(1 37h)
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7. | 9% Tacardt e e v & difsa €l
The student is suffering from myopia (near
sightedness)

(1 37)
U 37aTh &AM & adel o & 39397 &
AT fhar ST Feha gl
It can be corrected by using concave lens of suitable 5
power.

(1 37)

3gdar
or
ITel JUT & T2l hl dEISE el WenTer sl 3TUSTT SaTHeT
1.8 =it g
The red light has a wavelength about 1.8 times
greater than blue light.

(V2 31h)
37T, ST FF HT Yol aGASH § ISR ¢, g & &H
HUT olTel LT T 3T9&T Al T (BIET dWCE) &l 30w
gaeldl & JehioT i gl
Thus, when sunlight passes through the atmosphere,
the fine particles in air scatter the blue colour (shorter
wavelengths) more strongly than red.

(1 3)
ﬁﬁagmmqwarmﬁﬁqmrmgl sl
TATS 3T T T Al g Bl
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The scattered blue light enters our eyes. So colour

of clear sky is blue.

(Y2 31)

fde-arssr (Object-size), h = + 4.0 cm;

fda-gdl (Object-distance), u = - 25.0 cm;

wiehd gl (Focal length), f = -15.0 cm;
111

v u f
(V2 37)

__ D, Lo ]
~15.0 -25.0 15.0 25.0

1
or, = —
u

1_1
v f
1 -5.0+3.0 -2.0
or, —= —
v T8.0 75.0

or, v=-37.5cm

(3R FT V2 37k, SHIS FT V2 3i)
Zet TR, TEEH, m:%:-ﬂ

u

vh (-37.5cm) (+4.0cm)
T h'=— — = —
u (-=25.0 ecm)

gfafse &7 A (height of image) h' = - 6.0 cm
(3R FT V2 37, SHIS FT V2 3id)

a) If¢ s TR gfoer & Sofiedr H @r Sw ar
A gfaey gred gler-
If these four resistors are placed in a series, the

maximum resistance will be obtained:

Science
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(Y2 31)

Rs = 40 +8Q + 120 + 24Q = 48Q.

(3R FT V2 3ih, SHIS H V2 3ih)
(b) #GeTadd FfRIY Uit & fAv Iugerd oRT gfoRret & | 3

qredshd H I@T ST

The above four resistors will be placed in parallel

order to get minimum resistance.

(Y2 37F)

_1_1+1+1+1
“Rp 40 82 120 240

1 6+3+2+1
= P

Rp 24
1 12 1,
i_ —_— —
Rp 24 2
Rp = 20

10.

R1=5Q,R2=1OQ,(_‘|-2‘]TR3=3OQ

gl & O 9 e,
Potential difference across the battery
V=12V

gl cgfeeard gfokigs & fORT oY #ff fasraraR saar &
g, 3 ufoRieent & yarfed faega emr &1 aRees aat

& T g7 3NA & AIH T 3UAT A gl

4
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This is also the potential difference across each of
the individual resistor; therefore, to calculate the

current in the resistors, we use Ohm’s law.

(@)

Ry & garigd faegd &mr (Current from Ry) Iy = V/R;
l, =12V /5Q = 24 A

(3R &T Y2 3k, SHIS & V2 31h)
R, & garied faegd &mT (Current from R;) I = VIR,
l, =12V /10Q = 1.2 A

(3R FT Y2 3, SHS B V2 37H)
Rs & varfed fdegd &rT (Current from Rs) I3 = V/R;
I3 = 12V /30Q = 04 A

(3R FT V2 37k, SHS FT V2 )
(b)
aRUy & yarfgd Fef GRT (The total current in the
circuit):
=1, +l,+1s=(24+12+04)A =4 A

(3R FT Y2 3ih, SHIS FT V2 3i)
(c)

Dol gfaRIer (total resistance)
1 1 1 1

“R, " 50 102 300
1 6+3+1
> — =
R, 30
1 _10, 1
=5 =_"() ==
R, 30 3
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“ Rp = 300

(3R &I Y2 3P, SHIS I ¥ 3H)

3ar
Or

(a)
CIRCA o 3Td dcledleh ddT 3T JicRIEehdl & HROT
gl faega ofFdl & AT A ThATT sHHT 39T TR
ST &

due to the high melting point and high resistivity of
tungsten, it is the only use in the manufacture of
electric lamps.

(Vo 3@ + ¥ 3i&)
(b)
ok TRSTIIT T ITefedieh TAT IIORIY ey 1 hr e
wfow B 3, 3 fegd A afFadt ¥ e ey
I3 & U W RSP & T S &
Alloys have high melting point and high resistivity
than pure metals. Therefore, conductors of the
electric heating devices are made of an alloy rather
than pure metal.

(1 3)

(c)
(i) SofihA # TIST @ AHATR & 3URON & &
faoerd 8 I & § SRUT S FHAA I 30T Tl
&I 8 & o6 T
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In series circuit the voltage is divided among
electrical appliances connected, because of which
electric components do not work properly.

(i) Aofspe & TAISTT H Th 3URUT & TS g ol F
faega aRuy ge Srar 8, 3 ;R A v o 3uaor &
TS g S & R 30T R AT §96 W G|

The electrical circuit breaks down when a device

malfunctions in combination in a series, so if a single
appliance in the house malfunctions, all the
appliances will stop working.

(iii) AofsheTr A T & Rag (switch) T aXd &, 3
I BRT F 3T 3o faggd YT &l JIAUGTAR e
T Aol AT fohaT ST ThaT|

Only one switch works in a series circuit, so different
electrical appliances in homes cannot be turned off

or on at convenience.
(3TH & FIS TH, 1 3iF)

(d) SfRIY 30TIey &IC & &% # sgchA Bl &l
AT I FHIC FT & Tool ¥ TAUY Tedr §
AT 3TIIEY FIC I &G Tesl § G Jgdr ¢

Resistance is inversely proportional to the area of
cross section of wire. This means resistance
increases with decrease in area of cross section and

vice versa.

7
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(1 37)
(€) I TUT VAATAIA & Ffalershal A gl &,
FfRIERdT & gled & HRUT T fdggd & 3= dTelsh
BId & WY & & 3UeTehd TE oUT HeldT T Bl
Copper and aluminium have low resistivity, are
good conductors of electricity due to their low

resistance and are relatively cheap and accessible

metals.
(V2 31 + V2 37h)

11. | ¢) dArer-gRa 1
blue-green

12. |b) 2 1

13. | AT 1
Nitrogen

14. | sserel srs3f@ass (Nitrogen Dioxide) (NO,), 1
3t (Oxygen) (O,)

(V2 31 + V2 37h)

15. |a) A 9 R @4l ¥ § a4T R, A &1 Tl I@3r gl 1
Both A and R are true, and R is the correct
explanation of A.

16. | NATH, QIfsTA, NERIA
Lithium, Sodium, Potassium 2

(P a, IAF F 1 3ih)
8
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17.
(1 3)
2
(1 37)
3Ygdar
Or
Vohlail I AT HF (general formula for alkenes)
= CnHazn
(1 37)
Vochell &l TATHCT HF (general formula for alkanes)
= CnHan+2
(1 3/)
18. | (i) 2Na + 2CH3;CH,OH — 2CH;CH,ONa™ + H, 3
(1 371)
(i) CHyCH,0H 2 #25% oy —CH, + H,0
(1 31)
(ii)) CHyCH,OH 0T KeCra0r 3% v SOOH
(1 371)
9
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19. | (i) FeR=T T 3
Chlorine gas
(V2 37)
3N A T Taeodl/ THAIT et/ GdIH/ Jamorereren/

HITHH/ AT
Use: Water treatment/ swimming pool/ PVC/

disinfectants/ CFCs/ insecticides

(3TH @ HI5 Th, Y2 37h)
(i) gsararT g
Hydrogen gas
(V2 37)
39T g4eA/ AR/ @ig & fav saAfaar
Use: Fuel/ Margarine/ Ammonia for fertilisers
(3TH @ HIS Th, Y2 37h)
(iii) Ef3Te gregirarss
Sodium Hydroxide
(V2 37)
39T T3 @ ST gl & T HgeT TAUT AR/
FIETS Tl & T FHAA g

Use: De-greasing metals/ Soaps and detergents/
Paper making/ artificial fibers
(357 & Pl Th, ¥ 3h)
Ygdar
Or

10
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Metal reacts with acids to form hydrogen gas .
Gas reacts with fatty acids to form hydrogen gas.

(1 37)
3ENEUN: Sid HTARITH o1 gRFalRe 3Fd & qrY
gfafshar Har g, aF grssiele g a2ar AeRe FaREss
SelcTl gl

Mg(s) + 2HCl(agq) > MgCly(s) + Hx(g)
For example, when magnesium metal reacts with
hydrochloric acid, hydrogen gas and magnesium
chloride are formed.

Mg(s) + 2HCIl(aq) > MgCly(s) + Ha(g)

(1 37)

g1S3leTel 3 Ueh He-the T eafad & a1 Felar ¢
3T A9 o ¥ JfRfFIr 7 sy F [hesr arer
F O ST g8 A A A A HEE 1 oF
g, dl 98 We-Bhe @ tafd & Y okl 9l gl T§
Jdardr g, [ [Ades arelr 39 grggiei gl
Hydrogen gas burns with a pop sound.
Therefore, when a burning matchstick or candle is
taken near the gas coming out of the pipe in the
given reaction, it starts burning with the pop sound.
This shows that the gas released is hydrogen.

(1 37)
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20. | Fishgar Aol & Avg & Byq uiqy; Sid- 3mE, B,
oI5, B HT HATHATNA HLIA gl &1 Thid 7 Ig
URI: TeHISsS T Flefelc & & H IS STdr gl
The metals in the middle of the activity series such
as iron, zinc, lead, copper, are moderately reactive.
These are usually present as sulphides or carbonates
in nature.

(Y2 37h)
HoWHISS AT FlElcic H Jolell H U I 3Hh HFHISS
T 9Ted LT 3T 3T g1 SHfAT 3993 & Ugd
1] & HeWISsS Ud FHrefele l Ul ierarss H aRafdd
AT TA2TH g

It is easier to obtain a metal from its oxide, as
compared to its sulphides and carbonates. Therefore,
prior to reduction, the metal sulphides and carbonates
must be converted into metal oxides.

(2 31%)| 5
HeWHISS 31AEh &l a1 &l AU & S aTT 9 71
T U Ig 3ifFarss H gRafdd & Jar &1 53 wikan
FI ol FEd B

The sulphide ores are converted into oxides by

heating strongly in the presence of excess air. This

process is known as roasting.

(Y2 31F)
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Frelele 3TEh S AT ag & S a9 W TH el
O Ig Aearss # gRafdd & Sar g1 39 9fshar &l
fAEATIsT gl ST T

The carbonate ores are changed into oxides by

heating strongly in limited air. This process is known
as calcination.

(Y2 37h)
S & 3Fl & Hole U [AEdasT & aAd Arafaf@d
T 3R g &

The chemical reaction that takes place during

roasting and calcination of zinc ores can be shown

as follows -

3751 (Roasting)
27nS(s) + 30,(g)—=— 2ZnO(s) + 2S05(g)
(Y2 3ih)
fa€amge (calcination)
Heat

ZnCO;(s) —— ZnO(s) + COx(q)
(Vo 37eh)

S8 §IG Hlee] S8 3Ugerd HTaTdeh T AT HY &l
3FATSS § 1 9o fham Sl

The metal oxides are then reduced to the
corresponding metals by using suitable reducing
agents such as carbon.

(Y2 37)

Science
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3ET8Y0T & v, J9 oo 3fFa1Ss ol &leeT & Ty I
forar Sirar & o I8 5 g & 3roaidd g S g
For example, when zinc oxide is heated with carbon,
it is reduced to metallic zinc.

ZnO(s) + C(s) — Zn(s) + CO(g)

(Vo 37eh)
it f@fhanla arqe; 9 Aifsew, Sicaas,
TATATH 3nfe FT TS & T H 39T fRAT S

hT &,
The highly reactive metals such as sodium, calcium,
aluminium, etc., are used as reducing agents
because they can displace metals of lower reactivity
from their compounds.

(V2 37h)
FifF ¥ e afafrmhedr o agst # s
Tt & faediid X dhd B
because they can displace metals of lower reactivity
from their compounds.

(Y2 3i)

3gdar
Or

ST & @Y AATRAT FIF 9T geFe A AT €1
IFATSS 3cUeel I Bl S Ul HiFHSs S A
gelaieliel §, 5ol # Yol T gISgiardss Jetel d ¢,

Science
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Metals react with water and produce a metal oxide
and hydrogen gas. Metal oxides that are soluble in

water dissolve in it to further form metal hydroxide.
(Vo 3h)

AITTH vd AfSTH Sl U 33 Sl & A1 dell d

AfAfRar o 1 IfEad aur oRfRes & sfAkear

dor dur FsAEN gt § & s 3cafod sssied
dcplel Yoodfeld al Siral gl

Metals like potassium and sodium react violently with
cold water. In case of sodium and potassium, the
reaction is so violent and exothermic that the evolved

hydrogen immediately catches fire.
(Y2 37)
2K(s) + 2H,0O(l) — 2KOH(aq) + Ha(g) + FSHRT Fall
(Y2 37)
ST & HIY Sleadd &1 JfATRAT A el g g1 J&r

3cgfold FSAT gIesleld & Yoodiadd &l & fav gaieq
sTel gt gl

The reaction of calcium with water is less violent.
The heat evolved is not sufficient for the hydrogen

to catch fire.

15
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(Y2 31)
Ca(s) + 2H,0O(l) — Ca(OH)(aq) + Hx(g)
(Y2 31)

AINRITH Mo ST & arY IJfATRAT 7T F:ar 8, R
IH ST & AT TATHAT Fh ag HIATATHT ISSIFHSS
Td gISgiolel I 3cdeed ol gl

Magnesium does not react with cold water. It reacts
with hot water to form magnesium hydroxide and

hydrogen.
(V2 37eR)

Hfeh gISgiolel A & FoIgel AGHRITH U] T Hg &
R ara &1 3T g off ST IR FY S 2

It also starts floating due to the bubbles of hydrogen

gas sticking to its surface.
(Vo 31h)

TTATNIHA, I T fSieh Sl eru o o efider Stel
& AT 3R T & A STl & /Y ATATHAT HIAT 8, olfehed
AT & Y ITATHAT owteh Ig T HFAISS TUT gISglolel
eTel el &

16
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Metals like aluminium, iron and zinc do not react
either with cold or hot water. But they react with
steam to form the metal oxide and hydrogen.

(Vo 31)
2Al(s) + 3H,0(g) — Al,Os(s) + 3Hz(g)

(Vo 31)
o5, I, Weal 4T 9Mes Sl YTV STel & A1Y fdesper
fRfrar g FAr g

Metals such as lead, copper, silver and gold do not

react with water at all.

(Y2 37h)
21. |a) X 1
22. | c) Ttww 1
23. | gfadm
Second 1
24. | 3iTeree
Auxin 1
25.|b) A d R Gl I § aUT R, A &7 TET <@t =TeT ¢

Both A and R are true and R is not the correct 1

explanation of A.

26. | (i) TS &1 gRageT: 5

17
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3TTeFATSTeT 3707 QIANCliae 0] & AR & §¢ Hehel
gl Td # FAlg[g SAIST $hst H gar ¥ i
T &1 g IS Fl 3T Fdel & of ST & foedd
JierdateT 1 wAT g g

Transport of oxygen:

The oxygen molecule can bind to the haemoglobin
molecules easily. Haemoglobin present in the blood
takes up the oxygen from the air in the lungs. It
carries oxygen to tissues which are deficient in

oxygen before releasing it.

(1 37)

(i) PIeeT SBIHTFASS I IRAGA:

SH TG, HIoA SSHFHASS Ul H &S gorralier B
ST, TE SR §AR I TllGHT A gidd &9 &
X & Sl § BHhsl H of -7 AT &l

Transport of carbon dioxide:

Similarly, Carbon dioxide is more soluble in water.
Therefore, it is mostly transported from body tissues
in the dissolved form in our blood plasma to lungs.

(1 31)

18
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27. | M=, Rwfera, ATar (Wart) dar v 38 d1- wsd
HIV-AIDS
2
Gonorrhoea, syphilis, warts and HIV-AIDS.
(I FT ¥ 3h)
28.
GRa 3M@- 1 3%, FI5 IR 3T AH ST, TAd F
Vs 37%h)
3
Cerebrum
Hind-brain{ Medulla
{ Cerebellum Spinal cord
(proper diagram- 1 mark, any four proper labelling;
Y2 mark each)
19
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29. o RRTT
:;?Wﬁqﬁ e B 3 T A S ¥
3iferdieTet gard T HierTSTel el T dget
ggeT I © Ll §
SHPT TATT WR & SHPT TATT oddl & hd
AT IET 7 3
3ierEieTel gobdd o & | JTeRelialeT e & &
HRUT 37T LT oflel HRUT ARl IFd ATl BicT
gl & J
TR AT | et % sy ey &
ot g '
{&Fd 9dlg ol &did {&d YdIg &I &d1d & aidr 3
HO® giaT & J

(1S deT; Ucdh T 1 3+)

Arteries

Veins

Carries blood away

from the heart

Carries blood

towards the heart

Carries oxygenated

blood

Carries

deoxygenated blood

Its location is deep

within the body

lts location is close

to the skin

Their colour is red

due to the

oxygenated blood

Their blood is blue

due to the

deoxygenated blood

Science
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The lumen in The lumen in veins
arteries is narrow is wide
The pressure of
The pressure of
blood flowing is
blood flowing is low
high
(Any three; 1 mark each)
30.
5
GRIT 3IRW- 1 3%, HIS AR STelad AEN & 3T
sTTHTeheT; Ucdeh HI Y2 3ieh)
21
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— Stigma ‘ .
¢ _ ‘— ——Anther 8
8
)

Filament

Pistil

(Proper diagram- 1 mark, any four proper labelling

of reproductive parts; 2 mark each)
hE Td EHIHE T8 & ol T &, foiasd Sttt
HITAPTT Il ol
Stamens and pistil are the reproductive parts of a

flower which contain the germ-cells.
(Vo 31h)
YT o ST §, S ORIETRUT Sl 2

Stamen is the male reproductive part and it

produces pollen grains.
(Vo 3h)

TNHEAT IS & chg A AfEUd g § AT Ig ST
HAET STofeTiar &1 Tg T s1mait & &1 grar

22
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Pistil is present in the centre of a flower and is the

female reproductive part. It is made of three parts.
(Vo 31h)

YR 9T 3RT-Tooll HET ISR §, ALT H o« 7T

gfder g aar i srer afdenr g, S o fofar grar

gl

The swollen bottom part is the ovary, middle

elongated part is the style and the terminal part which

may be sticky is the stigma.

ar
Or
STeartaert
(FerTir Z2e)
IS
TaieE
DICII
A

BRI 3R@- 1 3%, P IR 3T ATHG,; TAdh FH
Vs 37%h)

23
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Oviduct or
Fallopian
tube

Ovary

Uterus

(Proper diagram- 1 mark, any four proper labelling;

2 mark each)

HIGT SeTal-ITARIN 3TUAT 373-IfAhT T TAATT ST
H BT B T FO g # Seariad T ¢

The female germ-cells or eggs are made in the
ovaries. They are also responsible for the production
of some hormones.

(Y2 31h)

JTARH H aF A ¥ UH 3IHSAT GaRT YAk AG Teh 38
qRYera gl &
On reaching puberty, one egg is produced every
month by one of the ovaries.

(Y2 3ih)
IATT Tk of ST ST gl

24
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The egg is carried from the ovary to the womb
through a thin oviduct or fallopian tube.

(Y2 3i)
alAl 3EATfgehIt HeFd gl Ueh oreliell ASATAT HLAT
&I fdTor e €, f98 e @vga &

The two oviducts unite into an elastic bag-like

structure known as the uterus.

(Y2 37F)

25
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